* KERFTEIISZEEHTHY. h<ETEITEDFEMEEEH T E5-HDED T, AISZHN EOBMEHZELHBDTIEHELY,
F1E5HR

AERBMRIERNRE T

T R24FE e
mES:24-C173S
[ & %8 tk &= ] -~
= X 4 FEEHHENILERSESE
R B 5 P RFAHERT G
B I & R L=2,609m

) 7 x 123 = K H




ﬁﬁ%lﬂ:ﬂi

= I @ E [E T ® B =
E 5 MW | (L=2609m ) R F1SHPERDESY
B o E& &t
B o @ %
HEMEZEE
E M & &

NERE



% 1 s
B =
B (7ER) L=2,609m
& B Al W % % g |mw | 2 == Mz s
(5] Er1
ACER ERER$912000 1
TMAE DBt HY—F |[m a
ACER 2
T ALK PELY— [ERERELIS5000m &
BE MR E X 792
XH H @ 26mm, {E2.1m x
BE M IR E X 122
XH H @ 20mm, {£E1.2m x
5274
5 SEIX WRalCr14T &
354
5F SH WHRlCr,4T &
35
a—K 500m & EZ#2.2mm =
315
7F—k 27K &
12
77—k 2% i
OE B SR 1

=1




